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Fs| #H EHERS RERR | RETVRE | BRETVER| ZIHHX | ElbS =ix
1 L8 107123411900701 | = fwklgsep: 071005 b HE 2 e=kil 91.80
2 KFERR 104863204020697 | 4k dn kb S 24pr 071005 b e E=kil 88.60
3 BT 100253441103875 | kRl Se24pr 071005 A E=kil 86.00
4 TER 144303103000060 | kb2 24px 071005 b e e=kil 85.00
5 T 144303124000152 | A= évkl2z2tp 071005 b HE Y 2 E=kil 83.20
6 FEMR 100193133703855 | kil S 24px 071005 b e E=kil 83.00
7 PR RiE 101833213423889 | vkl 2a2epr 071005 b e e=kil 81.60
8 FTWE 105043104906125 | 4kl S 24pr 071005 b e e E=kil 80.40
9 BER 105043104905943 | 4= éykl 2z 22k 071005 b HE 2 E=kil 80.00
10 X2 102953210200362 | 4k kb S 24pr 071005 b e e=kil 78.80
11 XS 100193133703857 | At dwkl2a2epr 071005 b e e e=kil 77.40
12 ERBEE 102003211418652 | *Edrflez2apr 071005 CR Yl E=kil 76.60
13 | #FE 107123620400595 | 4 éykl2z 22k 071005 b HE 2 e=kil 76.60
14 K T 144303124000197 | 4 drklez2apr 071005 A e=kil 76.00
15 | FHEHEX 100193152104880 | ‘kdnkl 22k 071005 e e=kil 75.80
16 | #HER 103073211604646 | A= aykl2e 24k 071005 WAEY S e=kil 74.20
17 | =48#K 102483122321298 | ‘Ednkl 2k 071005 e e=kil 74.20
18| BXRR 100553333310367 | A= fwklazsep: 071005 A £HH 74.00
19 I 105043104902222 | 4 drflez2apr 071005 A e=kil 74.00
20 | AREE#E 102003211418932 | ‘Efwfl2e2kpx 071005 WA e=kil 71.80
21 | &XFkPFE 105043104906082 | kvl 2e24px 071005 e eq=kil 69.00
22 (i 105043104906164 | A= awkl2e24px 071005 e e=kil 66.00
23| RELE 106573521103500 | ‘kdnk} 22k 071005 e e=kil 65.80
24 | ErikEl 107123620600580 | A=kl 071005 e c=kil 62.00
25 | EFE 107183614120399 | 4wkl 071005 e e=kil 0.00 e
26 | == 144303103000209 | ‘kdnk} 22k 071005 e e=kil 0.00 Bt




